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QUESTION 1

An administrator needs to provide iSCSI storage to a VM on the nutanix cluster running ESXi
Which native nutanix feature should be leveraged to meet this requirement?

A. Acropolis file service

B. Acropolis Block service

C. NFS whitelist

D. Storage Container

Correct Answer: C

QUESTION 2

An administrator wants to configure key based SSH access for an AOS 5.5 Implementation. Which three components
can be secured using this method? (Choose three)

A. The hypervisor host***
B. prism element

C. the CVM**

D. Guest virtual machine
E. The cluster **

Correct Answer: ACE

QUESTION 3

In the event of failed CVM, what happens to the physically attached storage for the node and the VMs running on it?
A. The drives for that node are inaccessible. The VMs reboot.

B. The drives for that node are inaccessible. The VMs continue to run.

C. The hypervisor regains control of the drives. VMs on that node reboot.

D. The hypervisor regain control of the drives. VMs on that node continue to run.

Correct Answer: C

QUESTION 4
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An administrator has configured an Active-Active policy on the brO uplink of an AHV host. The host is experiencing
connectivity issues. What step should be taken?

A. Remove any 1GB NICs from brO

B. Upgrade to AOS 5.11

C. Set the host to Compute-Only

D. Configure the top-of-rack switches for LAG and LACP

Correct Answer: D

QUESTION 5

What is the expected operation during node addition when the new node has a different AOS version?
A. The entire cluster is upgraded to the latest one-click release.

B. The node is added and a separate upgrade operation must be performed.

C. The addition fails and forces the administrator to image using standalone Foundation.

D. The node is automatically re-imaged using the software currently running in the cluster.

Correct Answer: C
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